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. GROUP A
(Algebra)

l. Answer any seven questions :

full marks

7 x2:14

(a)Provethat d+uf1=J,

(b) If x + y cr, x y, prove that x cr, y.

(c) Insert 3 Arithmetic Mean between 3 and 23.

(d) Find the base of the logarithm'of lTzg is 6.

(e) Find the value of x3 z* 7x + g, when

+ JJ.
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(e)

(h)

(0 Find the modulus of
12+5i
24+7i

Write down the 6th term of (3x + Yry),

If x varies directly as y and inversely as z

and x: arwhen y : b, z: c. Find the value

of x, when y _ b', z- c2.

2. Prove that :

(a) Xlogv-logz x ytggz-logx x Tlogx-logY: 1

(b) If cr' and p be the roots of 2x2 + 3x + 7 : 0,

find the values of d + p'. 3Y2x2:7

3. (a) If 'r' be the ratio of

+ c : 0, then prove

the roots of a* + bx

,,. -, (r + l)t b2that \ 
-.rac

(b) Find the coefflcient of xrr in [* *\ 3)"

3%x2:7
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4. (a)

(b)

:(a-b)(b c)(c a)

er's rule, solve : 3 /;x2:7
_3

z: 4

:2

Show that

'lr I ll

|;;;l
Using Cram

x+y+z
2x y+ 3

x+2y z

GROUP _ B

Answer any /ozr questions. 4x510

: 5. (a) Evaluate 2Y2

{i} "oosec (-7659

(ii) tan (7309.'\
'

O) Prove that : 2Y2

sin (B-C).* sin(C-A) * sin(A-B) -O
cos B. cos C cos C. cos A cos A. cos B
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(a) ?rove that

go$ 130o + cos 110o + cos tOo -0

(b)

7. (a)

(b)

8. (a)

The
ata
600.

cos 20o cos 40o cos

Prove that

sin 3e = 3 sin0 4

Find the value of sin

1

60o cos 80o : G.

sin30

180.

2

3

If A,+ B + C: 7r, prove that

sin 2A+ sin 2B+ sin 2C- 4 sinA. sinEi . sinC

angle of elevation of the top of a tower

distance of 400 metres from its foot is

Find the height of the totver-

-,1 -rlg. (a) Prove that tlt-t ; + tan-' i 
: n/4

(b) In any triangle, Prove that

B-C b-c . A
13n 

- 

:, 

-.COt 
-z b+c 2
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--l$l
GROUP C

10. enswei any three from the following :

3 x5:15

(a) Find the volume and cutved surface of a right

circular cone whose height is 8 cm and the

radius of the circular base is 3 cm.

(b) 
ffi':111?fi"?ffii :?',il:'ffiJ'?ff[:
find the capacity of the tanker is c.c.

(c) 
11*'i:ld 1HilT'#'",H;*::'LJLi
18, 22, 26, 24, 20, 26,30, 34, 28, 24 and

L4 cm and whose base is 146 cm.

(d) Find the volume of the firrstum of a pyramid

the areas of whose ends are 32 sq.m and

20 sq.m and height is 6m.
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